
History
Raising Achievement 



History
• Content

• Exam questions and how to 
answer them

• Revision



Edexcel GCSE History
• Paper 1 Thematic study and historic environment: Crime and 

Punishment in Britain c.1000 - present and Whitechapel, 
c1870-1900 crime, policing and the inner city

• Paper 2 Period Study and British depth study: Superpower 
relations and the Cold War 1941-91 and Henry VIII and his 
ministers, 1509-40

• Paper 3 Weimar and Nazi Germany 1918-39



Check knowledge for each paper and topic

 



History - impress with own knowledge
 



History

Types of exam questions and how to answer them - 
15 different types of questions!!

• Understanding the demands of different exam questions

• Applying own knowledge when necessary

• Use of sources

• Interpretation questions





PAPER 1: How to answer questions about Crime and Punishment c1000- Present Day
1. Explain one way … similar  or 
different. [4]
EXAMPLE QUESTION  
Explain one way in which conditions in prison were 
different in the mid 19th century and the late 20th century. 
[4]
5 MINUTES

Keep your answer brief but use accurate and specific terms and knowledge.
Show your knowledge of both periods.
SENTENCE STRUCTURE:
❑ In (the first era mentioned) …….
❑ By (the second era mentioned) ………
❑ (Explain why it changed or stayed the same

2. Explain why… [12]
EXAMPLE QUESTION
Explain why there were changes in criminal activity in 
the period 1900 to the present day.
You may use the following in your answer:
❑ Transport
❑ The Internet
You must also use information of your own. [12]

15 MINUTES

3 X P.E.E. Paragraphs
✓ POINT: One factor ……was….
✓ EVIDENCE: For instance….
✓ EXPLAIN: This explains the… 

✓ POINT: Another reason for……was….
✓ EVIDENCE: For example
✓ EXPLAIN: This was a cause as…

✓ POINT: A final reason why……was….
✓ EVIDENCE: For example/instance….
✓ EXPLAIN: This was a factor as…

3. How far….. [16+4] 30 MINUTES
EXAMPLE QUESTION
‘Attitudes in society were the most important 
factor influencing how criminal activity was dealt 
with in the period 1500 – present day’.
How far do you agree?  Explain your answer.  
You may use the following information in your 
answer:
❑ Laws against witchcraft in the 16th century
❑ Conscientious objectors in the 20th century.
You must also use information of your own. 

3 X P.E.E. Paragraphs + Conclusion
✓ Brief introduction – outline the argument for and against the statement

✓ State your argument for the statement in the Q
✓ POINT: One factor ……was….
✓ EVIDENCE: For instance….
✓ EXPLAIN: This explains the… 
Try to use 2-3 pieces of evidence

✓ State the argument against/other factors
✓ POINT: Another reason for……was….
✓ EVIDENCE: For example
✓ EXPLAIN: This was a cause as…
Try to use 2-3 pieces of evidence

• One similarity was…
• One factor was..
• Firstly, secondly, finally…
• In addition….
• Adding to this….
• A further….

FINAL JUDGEMENT/LINKING
• To an extent…
• X was partly the most important cause
• The most important factor was certainly…..
• All factors are important, however…..
• It can be strongly argued that…..
• If this hadn’t happened…
• The main reason for X was…without this…..
• The root cause of X was…
• The main catalyst for X was….

Explaining
• One factor behind the change was…
• This caused change as…
• This resulted in…This led to…because…
• This factor was key as…
• This meant that….
• This factor caused……because…
• This explains a change as…
• This had an impact as…
• This led to….
• This meant that…

S – Statistics
P – People
E – Events
L - Laws
D – Dates
F – Facts
T – Key Terms

EVIDENCE
• For example…
• For instance…
• Such as…

CONCLUSION/FINAL 
JUDGEMENT: 
• You MUST reach an overall 

judgement 
• Try to LINK the points 

together to show a greater 
understanding of the factors. 

• Be convincing in your 
argument



NARRATIVE 
ACCOUNT 
• In order to…
•Despite this….
•As a consequence…
•The effect of this 
was..
•Consequently..
•This led/resulted to..
•Without this..
•All of these events 
led to
•This meant that…
•This event then 
resulted in…
•This caused…

Explaining 
IMPORTANCE:
▪ This was essential..
▪ This was key..
▪ A vital part was..
▪ Without this..
▪ This was significant as..
▪ This resulted in..
▪ This changed..
▪ It meant they relied on..
▪ This was a turning 

point…
▪ This was a catalyst to…

Explaining 
CONSEQUENCES:
•As a result of..
•The effect of this was..
•Consequently..
•This led to..
•The consequence was..
•This made a difference as
•This changed the way..
•This meant that…
•This then resulted in…
•This created a change 
in…which led to…

POINT EXPLAIN CONCLUSION & 
JUDGEMENT

• To an extent…
• This factor was partly 

responsible for…
• To a limited degree…
• The most important 

factor was certainly…..
• All factors are 

important, however…..
• It can be strongly 

argued that…..

EVIDENCE
•For example…
•For instance…
•Such as…
•An example of..
•This proven by…

USE SPECIFIC FACTS

Statistics
People
Events
Laws
Dates
Places
Key Terms

LINKPOINT
EVIDENCE
EXPLAIN
LINK

• One feature of…
• Firstly, secondly, finally…
• In addition….
• Adding to this….
• A further cause….
• Furthermore…
• Finally….
• However, another factor..
• In contrast…
• It can be argued that…
• Alternatively…
• However, an alternative..
• Arguably…

•This factor influenced..
•This was the root cause of..
•The short term cause created…
•This was a catalyst for..
•Without the effect of...
•Without the influence of..
•Without the development of..
•This factor led to further…
•This strongly relates to…
•His/her actions meant that..
•His/her beliefs led to…change..

•This led to…because…
•This factor was key as…
•This meant that….
•This factor 
caused…because

•This was an influence as…
•This had great impact as…
•This created…
•This explains the cause 
as…

General Rules
4   Marker = 2 x P.E.
12 Marker = 3 x P.E.E.
16 Marker = 3 x P.E.E. + conclusion

❑ Always read the question in full.
❑ Always refer back to the question 

throughout the answer.
❑ Include specific facts NOT vague 

facts.

Formal language 
ONLY.

No ‘you’ or 
‘your’.
No ‘stuff’
No ‘etc.’
No ‘they’
No ‘things’
No ‘Well…’
No ‘It’s like…’

When you have to EXPLAIN, you should always P.E.E.L.



How to answer and structure specific questions e.g. 
Cold War narrative questions

• Make sure you know what the developments or events are for the question. 
List in chronological order

• The first development/event was…
• Explain development/event

• Link development/event to the next

E.g. “as a result”, “this led to”, “a consequence was”

Repeat the steps

You need at least 3 steps/developments/events



Edexcel: Write a narrative account analysing the key events of the 
Berlin Crisis, 1948–49 You may use the following in your answer: ● 

Stalin’s fears ● the Airlift. You must also use information of your own.

First the Russians blocked the roads with buses so 
that goods could not go in to the city. The people 
in the city needed food and coal. It took ages for 
them to get anything so in the end planes from 
Britain and America sent in the goods people 
needed and this was called the Airlift.



• The Berlin Crisis was caused by Stalin’s fear for a strong Germany, since they already 
invaded Russia in 1914 and 1941 and Stalin believed they would invade again once 
they were strong enough. Stalin’s fears grew when America , France and Britain 
joined their three zones together to create Trizonia. Trizonia helped re build 
Germany by creating the Deutschmark and giving Germany $16million as aid. By 
rebuilding Germany, Trizonia made Stalin their enemy. This led Stalin to blockading 
Berlin. It lasted ten months. Food, water and communication to West Berlin were cut 
off completely and Stalin was pressurising West Berlin to become Communist. 
Trizonia’s response to this was an airlift as they could not attack the blockade 
because it would be seen as an act of war. 4600 tonnes of goods was lifted into 
Berlin every day and the West Berliners were now safe. Stalin called off the Blockade 
in May 1949. As a result Germany became clearly divided. The GDR were the East 
and the Federal Republic, the West. This however caused tension and led to the Cold 
War.



Paper 3 Germany: Q3d two interpretations and explain which 
one you agree with the most using your own knowledge.





16 mark ‘How far do you agree’ Qs
Q6 ‘Specialisation has been the most significant development in the nature of police 

work in the years since the creation of the Metropolitan Police 1829?’You may use the 

following in your answer:

• Criminal Investigation Department
• Radios

You must also use information of your own

WHAT IS THE FOCUS OF THE QUESTION? 

Specialisation OR New Technology / Other factors in terms of changing Police work



16 mark - Developing an argument
I can disagree with the statement as one key development in the nature of police work 
since 1829 has been the use of forensic science which is an example of a new technology. 
For example, the use of forensic science has made the police more effective as the analysis of 
fingerprints, ballistics, blood splatter, and DNA can lead to convictions. This has been a major 
development as police do not need to rely on witnesses as much or police being on the scene 
immediately and allows the police to retrieve and use evidence after the fact. Furthermore, as 
well as forensic science, the use of technology such as computers has clearly developed the 
nature of police work. This can be shown via the National Police Computer, set up in 1974. This 
police database collects and records of criminal activity that can be accessed by all members of 
the police force at any time. This is a significant development as it has given the police the ability 
to link crimes or criminals, streamlining the way police work and solving difficult case that before 
may not have been solved. This therefore makes the use of technology such as forensic science 
and computers possibly the most significant factor in the development of police work.



Writing a conclusion/judgement
•Support with criteria. 

e.g.  Which change affected the most people 
positively?  Which change led to the most change in 
everyday lives?  Which factor influenced history 
over the longest period of time?  Which event led to 
follow up change?  Which event led to changes in all 
areas of crime and punishment?



What makes a high level response?
• Understanding the demands of the question!

• Responding appropriately 

• E.g. own knowledge

• Analysis of source

• Appropriate structure of answer

• Linking back to the question

• Reaching a reasoned judgement conclusion



How to revise





How to Revise
Key word Definition Extra Own Knowledge

autarky

chancellor

coalition

Freikorps

German Labour Front

Gestapo





Practise answering exam questions
• Helps exam technique
• Work on types of questions - e.g ones less confident with
• Greater understanding of the focus of questions
• Applying knowledge accurately and relevantly
• Won’t be thrown by questions in the summer exam
• Develops confidence



Text books & Revision guides



Text books & revision guides



Department revision booklets



Useful sites for knowledge
• Schoolshistory.co.uk

• BBC GCSE bite size

• You tube Cold War documentary - Turner 
productions 1991

• Johndclare.net

• Spartacus educational

• Historylearningsite.co.uk



Revision Sessions

• Wednesday 3.25-4.25pm
• Friday 1.30-2.00pm
• Individual sessions arranged by class teachers



How to do well

• Hard work and revision essential

• Understanding exam technique

• Start revision now!

• Attending revision sessions

• Those underachieving – lack of effort, work missing, 
not including enough relevant knowledge, poor exam 
technique


